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There is a circular site. After expansion, the diameter

increased from 16m to 20m. How much did the area of the
site increase? (J1 =3.14)

A. 452.16m?
B. 113.04m?
C. 12.56m?

D. 6.28m? i@
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A bottle of lemon tea has 250mL, and the capacity of the <
new package of lemon tea has increased by 25%. Siu

Ming buys four bottles of newly packaged lemon tea.

How many liters are there in total?

A. 1250
B. 1.3
C. 125

D. 1.25 F@
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In a square with a side length of 16cm, draw a circle.
What is the maximum area of this circle? (t=3.14)

A. 12.56 cm?
B. 50.24 cm?
C. 200.96 cm?
D. 803.84 cm?
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